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VI Semester B.Com. Examination, September 2020
(CBCS Scheme)
(F + R) (2017-18 and Onwards)
COMMERCE
Paper — 6.5: Elective Paper - lll : Performance Management
(Finance Group)

Time : 3 Hours . Max. Marks : 70

Instruction : Answer should be written in English or in Kannada.

TN = D
SECTION - A

1. cdnzmwte 5 @ nert «ugds. B TF 112 wosnb.
Answer any 5 questions. Eaﬁ%?stion carries 2 marks. (5%2=10)

a) BRF, 808 Be3TD woEe %
' - ?
What is zero-based budget 7 { 2/

b) ‘womse-oony’ mmm&z{ et B0 Atol
How do you calculate Debt-equity ratio? @},

C) 3eIEILE 508 ITOR, 0TI ?
What is activity-based costing ?

d) Imras Jdodb eﬁc;ﬁrdabd 3RR.
Give the meaning of transfer pricing.

e) VI BHo WO 0TTERD ?
What is management report ?

f) oDFERZ DR 2000TT Wit WBF B, VeR.
What do you mean by performance appraisal ?

g) QPN FIOWF Y 0T ?
What do you mean by divisional performance ?

P.T.O.
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SECTION-B

cIRETREIR 3 TR wogor. B3 TP 16 wosnd
Answer any 3 questions. Each question carries 6 marks. - (3x6=18)

2. o S, Boseos Wi VScReDR) Red.
Explain the concept of target costing.

3. AOTTHOE FIPoR BB Wr0TEE SR03 BPTRNY SRNS T, AN S9A.
Bringout the differences between traditional costing and activity-based costing.

4. Fa0eI03 25000 b:im?b&s‘ emaawcﬁéodo £90TIOT dzim?o B3 FPBoT30833;

Sypsdned T 30T R ()
TN @% 350
FOFT BRO 125
wdc:ariqaﬁ Soewosinedy - o

- 30 Fxensks fwd (€ 12,50,000) Sé}@q
WS Sed w3 o 25 T
ST T (20% 23) 65

@ .

2805 3 (25% 37 35
B934T (X 2,50,000 39 25

10000 C3RREF T e SR, o) FIR0R.

The budgeted expenses for the production of 25000 units in a factory is given

below:

Elements of Cost | Cost per Unit (%)
Materials 350
Labour 125

Variable overheads 100
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Fixed overheads (% 1250,000) 50
Variable expenses (Direct) | 25
Selling expenses (20% Fixed) 65
Distribution expenses (25% Fixed) - 35
Administration expenses  2,50,000 Fixed) @~ 25

Prepare a Flexible Budget for the production of 10000 units.

5. B3BPNT @SN 20830 BOA WOLOTTLT:
0008 BSTE 032Qe i~ T 50
WIS 3, T 0w~ T 40
30 &unsb- T 1,50,000
@ 3 @
FoRo%B0: T |
a) RRRS 2oTd - CIRXFTIE) &%&3@
e . o v [ )
' b) 2.0t BER S WorhE) 4000 om%évgyﬁ SR BREN B0k WS,
BOTBEBOO. |

The following information relétes to a firm : }’
Selling price per unit —X 50

Variable cost per unit —¥ 40

Fixed cost -~ X 1,50,000

Find out: |

a) BEP in units and in amount

b) Find out selling price per unit if BEP is brought down to 4000 units.
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6. SEUNS TRL30W0T() O FIFZoD (b) Z> BT FFod W (€) Fd WROTF
TR BRI,
SrResE ot — 20000
3 rointed — 25000
HRRe5FEROTT ~ T 15 8 rotdr
R 3000~ T 12.5 T8 ricidr

Using the following information, calculate (a) Labour Cost Variance (b) Labour
Rate Variance (c) Labour Efficiency Variance.

Standard hours — 20000 hrs
Actual hours — 25000 hrs
Standard wage rate — ¥ 15 pet®gpur

Actual wage rate — 3 12.5 per ho %

o -/?q@ |
SECTION - 0%4)},
evintnianialeloi ] @)ﬁj@ﬁ SBOR. B —%ﬁ 14 esBne.
Answer any 3 questions. Each question carries 14 marks. (3x14=42)
7. @) W¥R0mET B0 d@m@ & eugdeansh odn)ey 2
b) ™0 aﬁagjmm;d o*o’oa’ﬁ@dsgL NROA.
a) What are the objectives of activity-based-costing ?

b) Briefly explain the steps in target costing.

8. TODFIROE DTFE Ak FIF G-, Ty SRIBELITR IR,

What are the needs and advantages of performance management information
system.
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9. 53 FomRah 2 RFYY 3 $9Hor DRONYR DERT:

NS ‘ - 31-03-2019 31-03-2020
AIRIonIX! % 72,90,000 ¥ 81,00,000
@DIN ¥1,62,000 ¥ 4,05,000
FOROWD:

a) Py BRTE3 TOWINED

b) ?&dd?,‘a;

c) ¥27,00,000 w03 NYRLD 35NN SRo0t B0
d) ReR owd BRZTY,

e) emﬁ 6,48,000 2T 0008 0T3%0

f) ¥90,00,000 SRooL3E, 3T %

0) NORD DRENST WIS &3
Vaishnavi Co. reports the following inform%i;m for 2 years

2]

Particulars 31-03-2019 @K’P? 31-03-2020
Sales 3 72,90,000 ’?}, ¥ 81,00,000
Profit | ¥1,62,000 ¥ 4,05,000
Calculate : |
a) P/V ratio

b) Fixed cost

c) Sales to earn a profit of ¥ 27,00,000

d) BEP (in amount) |

e) Margin of safety at a profit of ¥ 6,48,000
f) Profit when sales are ¥ 90,00,000

g) Variable cost for 2 years.
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10, o manrSone, 10000 CHERFTY wowwe wumHit enie, s e F9it Deacs

B8 0hRREFR ()
mARD | 3 700
woridd, 3250
whohR oeenadped % 200
33 @xoxRd 0 (R 20000000 - %200
WTNE S (Jed) . %50
oot Sedied (10% 40) | Z 130
2580 583 7k (20% &) - 70
3 I (% 5,00,000) % 50

PR, BOIRORLY BIeE sRZiNm) BReds D
Qe Brieos w23 533, R SRCOR.

' 8000 om:ow aﬁa:%o 6000
moms we’aﬁ& 3odsae~ abz%o 3

The expenses for budgeted produ |20 of 10000 umts in Prakash Industrles

o . are g|ven below - o @ | |
- | ' | %unit 4]

Materials 3700
Labour 7 250
Variable overheads | % 200
Fixed overheads (% 20,00,000) 3 200
Variable expenses (direct) T 50
~Selling expenses (10% fixed) ~ T 130
Distribution expenses (20% fixed) 370

~ Administration expenses (% 5,00,000) 2 50

Prepare a budget for prOduction of 8000 units and 6000 units and also indicate
cost per unit at both levels. |
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1L % 0 BIRTR03RE Q0Bres Twreeds 8 pvk
40% — A ToogF — X 80 B3 w7
60% —~ B @moggs ~ X 60 @ wa'n
50880, 10% T TRweds 2% et oo
SR AR, FWe:
90 &° — A Do — T LT 84
160 &3° ~ B T Hr—3 8 wS T 46
TOROT GUBIES 230 £330
83 00T QETONPOT ) A7 ET, FZ 00N, FOrE R0,
The standard cost of a certain Components in a chemical mixture is

40% — Material A —% 80 per tongs

60% — Material B — X 60 per ton

A standard loss of 10% is expected incp%gu/ction.
Actual cost of materials used is : @

90 tons — Material A —X 84 per ton ,?7/?},
| 160 tons — Material B — X 46 per ton

Actual output is 230 tons

Calculate all material variances.
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